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Multiplication (Vertical) Name:
Solve each problem. Answers
1) 101 2) 992 3) 653 4) 308 .
X 19 91 x 15 X 56 '
2.
3.
4.
5) 867 6) 779 7) 612 8) 229 i
X 64 32 x 57 X 33 '
6.
7.
8.
9 930 10 762 11 go3 499 .
X 48 77 x 64 X 46 '
10.
11.
12.
13) 618 14 g22 842 16 272
13.
X 32 35 x 98 x 22
14,
15.
16.
17) 981 18) 125 19) 526 20) 831
17.
x 15 35 x 15 X 35
18.
19.
20.
1-10 195(90(85|80| 7570|6560 |55 |50
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Multiplication (Vertical) Name: Answer Key
Solve each problem. Answers
1) 2) 3 4)
101 992 653 308 ) 1919
X 19 X 91 x 15 X 56
909 992 3,265 1,848 , 90,272
+1,010 + 89,280 +6,530 + 15,400
1,919 90,272 9,795 17.248 3 _ 9,795
. 17,248
5) 6) 7) 8)
867 779 612 229 . 55488
X 64 X 32 x 57 X 33
3,468 1,558 4,284 687 6 24928
+52,020 + 23,370 +30,600 +6,870
55,488 24.928 34,884 7.557 ;34,884
8 7,557
9 10 11 12
) 930 ) 762 ) 803 ) 499 o 44,640
X 48 X 77 x 64 X 46
7.440 5,334 3,212 2.994 0. 58,674
+ 37,200 + 53,340 +48,180 +19,960
44 640 58.674 51,392 22 954 1. 91,392
1 22,954
13 14 15 16
) 618 ) 822 ) 842 ) 272 s 19776
X 32 X 35 x 98 X 22
1,236 4,110 6,736 544 1w 28,770
+ 18,540 + 24,660 +75,780 + 5,440
19.776 28.770 82 516 5 084 15 82,516
16. 5,984
17 18 19 20
) 981 ) 125 ) 526 ) 831 o 14715
X 15 X 35 x 15 X 35
4,905 625 2.630 4,155 s 4,375
+9,810 + 3,750 +5,260 + 24,930
14,715 4.375 7.890 29.085 0. 7,890
o0 29,085
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